©®

‘,\: P;’”Ll; 7!03‘

2SS 22149 M -2628 TRz SEAMEH SARAMDE BALE
2L Lt 2015.2.17 - 02/17
= = .

0l=#= NEE Ay 21243

aocs
= TG 223N
YEHS
x
NBSME R YHE

2015 A | XHA) & 9148 7 A1

238 Y

A

A 4




dEAMNY

AP A

A7 | BEEHCE

| M BAIS

ALl

of

I+

!

760

IH

Of

IH
O
<

7 L (

S ALRE

0| 3

7|

EtAtH &S

7 L

ol 2k et A

HETANR ]

elE [

M
o

o

A

W
oF

ol

Mz

1 2015 DH[XAES

HH S

ol0

—
100
e

foio

T

KO

Kto

Kir
oF

oK
ofr

Kir
oF

[0]

Hq
=

x 22| T8l 7

FAI7] BEELCE,

1[e]

Z N

1[e}
Nl
~d

|4



2010 AHIXASHE LA
AW L ASA NS

]

=
A8l Thigh A Bl 2155 AR 375t AR AT

29| AHRIAESIAILCRT M) S ASte] 9135t A
=
=

g 4 Sl 7IRE TR |

H

H 0O 0 d

UO04go0ooaao

230 27
AlEHREYE 332 1 22 A Al

2B EPEHAIE 2B (M 4] A|2013-19638)

B9k - 10158(2015. 1. 21.) 2015 AHRPAJEQRFZIAIY 912418,

Rt ooX pl I

4

o

o

O 201

O 201
o 7

A AR 67
Al: 2015, 3. 2.(9) 13:00~16:00 / 17:00~18:00
2 3% 8% thzjely

AR 9 R o) 3

|=5]
H
53 b 371288 Zold AAl

59 A5 3 95LSL oot L AP 952 Faz
U 29 o 5ol Way o 43

o




2919 712

]

A
a3

Aot 471,

1]

a
=

e e

S
T

H
o3

E]
e 8%, NSO, shgue)

H
2

oF

H
o 973 ZAH17:00~)

AR el 2pA),
2.
o2 1

o)

'.l:r.
ey !
H

o
=-

a
a

O

(¥D

O

2]

—

(o]

A % (A

(

ot

ofr
o
AR

U

"~

(110)

14:10 ~ 16:00

U%3-Hord AEHA 83

SESE

(40')

16:10 ~ 16:50

17:00 ~




Bl 2124 A2 Ay

U0 00agad

o A]: 2015, 3. 2.(%) 16:10 ~ 16:50

T A% 8% HiFA

SRR L

3 of Ak 3%

4 % 2k 7Y 67

W &

o 9124 Zu|(ZAIY): ARH R TARE MG &A1Y 24

O #1124 $£A9(F3A): A= TRt ol&stH Y3 £ [EYI]

0 Q1 AF T Z(FHA): AU ARo] a4 U HF YERUZ [29)]

O Al A & F(FHE, EH4%, HRIY): 38

- 13] AlF91% 265, 23] A¥E 214, 3% %% 207
- 9124 WAgol wet 28] Aoz WA HEAIRR 18], A9IEAt 13)
4 AHR]Y
Al 7H ME 9% F @

16:10 ~ 16:15  (5°) | Al& ohy AFB]A}
SR1CH] (=7]0)] ThEH m5AY)

16:15 ~ 16:40  (25°) | 9123 £ [EU1] T3%
- W o] 53t f1EAT A 2o
- g A 677

1640 ~ 1642 (27) | QAFEZ [292] 3%

16:42 ~ 1647 (5°) | 7]\ 9A1R] &g T, B0, IR

- 912): chelely FmHy
- wpg: 38] E& 23] Mo

(WI26%, RighE21, Hel220m)

1647 ~ 1650  (37) | ¥1&A 5=

NG




A 804t
O

2 1,270,000¢

—0H-
n °
@)

: 10,0009 x 679 = 670,000

B AEE AA
O ZFAEE 2]Z: 300,000 x 1% = 300,000¢

=22}
= O

]

o
+

o @A Zu], that @ B3E 36 300,0009

ojoRbH, SIRPRBRIANY,
£713), AEINSI2 g, Yuhegul(201), ALEBRIH](01)

u
=)

Al
S|

|

A
L

g
|

Al
>

(

)

=
=

O HEz2}E A

SolzAM 13,

AR E



thelel)

5
8%

%
3

A HIXE (3

2
)

]

o
F

[E<d1]

FogA

]
1

27
@® 7] o

AFE|ZE
ks

2AFAd
Q

4

L?-,_u _M m_h._ i
=
e
oF!
@ SFMre <FB (KFT 1)
"3
H
(N P ot el
o efrulerdr [ @ M)




1z
=<
31D
oll
<r
Kir

2015, 3. 2.(

16:10 ~ 16:50

mf_:\_,_

2015, 3. 2

Al:

L)

=2
=

F 265, ¢

22

2} 79, o4z} 60% / A 91

L}
O

6778 (

oq
i
ol

o
=2

A
T

of TH
FA

o
L

oF 2x e,

e 7RI S2] 7Rl BEO Hie

]

L

£ W2 o
3 WY FAHE FoMD 98
274373 8}

Al
>




